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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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SECTION -1

Mention any one use of crystallisation method ?

Under what condition is the magnitude of distance and displacement equal ?
Mass of an object is 10kg. What is its weight on the earth ? (g=9.8 m/s?)
Name the cereals which provide us carbohydrate for energy requirement.
Draw distance-time graphs for

(a) an object at rest.

(b) Non- uniform motion.

Firing a bullet from a gun, results in recoil of gun. Give reason.

How is uniform motion in a straight line different from uniform circular motion ?
Explain.

How is gravitational force of attraction between two bodies affected if
(i)  Man of both bodies is doubled.

(ii) Distance between them is halved.

What will happen when we start putting pressure and compress a gas enclosed in a
cylinder ? Do you think that increasing or decreasing the pressure and temperature
can change the state of matter. Justify your answer with an example.

The small of hot sizzling food reaches you several metres away, but to get the smell
from cold food you have to go close. Give reason.

Give the other name of dividing tissue in plants. In in which part of plants, apical
meristem is present. Also mention its function

Name the scientist who first described Golgi apparatus. What is cisterns.
What is genetic manipulation in plants ? Give an example in support of your answer.

(i) What is uniform acceleration ?

1
(ii) Derive the relation S=ut +5 at 2 graphically.
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The universal law of gravitation successfully explained several phenomena. Mention
any three.

Derive a relation for acceleration due to gravity. How does it vary as we move from
equator to poles ?

State any 3 changes that a force can bring about on a body. Give one example of each.

Draw a neuron-unit of nervous tissue label axon, nucleus, denrite, nerve ending.

Give three management practices are common in dairy and poultry farming ?

What are the three advantages of composite fish culture ?

Show by an experiment and with the help of labelled diagram, the process of sublimation.

What is latent heat of vapourization ? What produces more severe burns, boiling water
or steam ?

Give any three points of difference between prokaryotic and Eukaryotic cell.

What would happen to the life of a cell if there was no Golgi apparatus ?
OR

Explain why chromosomes is one of the chief component of a nucleus

Which two organelles of a cell contain their own genetic material ? What will
happen if the organisation of a cell is destroyed due to some physical or chemical
influence.

You are given a mixture sand, water and mustard oil . How will you separate the
components of this mixture. Explain it with the help of different separation
methods involved in it.

Give flow diagram showing the process of obtaining gases from air.
OR

How will you separate the mixture of petrol and water. Write it with the help of
labelled diagram. With four labels.

Give any two point of difference between a mixture and a compound.
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Define Inertia. Name the physical quantity that measures it.

It is necessary to run along with the moving bus in the same direction of the bus
while alighting from bus. Give reason.

Calculate the magnitude of force required to produce an acceleration of 2m/s? in
a body of mass 12.5kg.

Define force.
The velocity-time graph of a car of 1000 kg mass is given below.

B
154

$ .C $
6 8 10 12
t —> (sec)

(i)  When is the maximum force acting on the car ? Why ?
(i) What is the retarding force ?
(iii) For how long is there no force acting ?
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SECTION - II

A student was asked to mix the white of an egg with water and stir well. The student
observed that

(a) a transparent solution is formed.

(b) a translucent mixture is formed.

(c) egg white settles down at the bottom.
(d) egg white floats on the surface.

If common salt is added to the unsaturated solution of water and common salt it will
(a) become a colloid

(b) become a suspension

(c) start showing tyndall effect

(d) remain a true solution

Add dil H,SO, to a mixture of iron and sulphur, we would observe
(a) FeS reacts with dil Sulphuric acid to give H, gas.

Mixture of iron and sulphur reacts with dil. Sulphuric acid to give hydrogen
sulphide gas

(c) FeS does not react with sulphuric acid

(d) Mixture of iron and sulphur reacts with sulphuric acid to give hydrogen gas.

When iron and sulphur are heated at high temperature.
(a)  Yellow coloured iron sulphide is formed

(b)  Black coloured FeS is formed.

() Mixture of iron and sulphur is formed

(d) They do not react.

The colour of magnesium after rubbing with sand paper is
(a) Silvery white (b) Grey (c) Black (d) Brown

Which of the following compounds when dissolved in water gives coloured solution ?
(a) Barium Chloride (b)  Sugar Solution
() Sodium Chloride (d) Copper Sulphate

What happens when iron nails are added to copper sulphate solution ?

(a) The solution becomes pale green and reddish brown copper metal gets deposited.
(b)  The solution becomes colourless

() There is no reaction.

(d) Copper displaces iron.
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When we add aqueous solution of sodium sulphate to the aqueous solution of barium
chloride, what is not observed ?

(a) Immediate formation of white precipitate
(b) A clear solution as filtrate.

(c) A white residue on the filter paper.

(

d) Residue easily soluble in water.

The colour of the pure ammonium chloride is
(a) White (b) Blue () Green (d) Red

To observe cells in an onion peel, we must prepare the slide by mounting on it.
(a) Crushed pulp of onion
b) Dry scale leaf

(
(c) Green leaf of onion
(

d) Thin layer of fleshy leaf of onion.

Which of the following liquid is not used in the preparation of stained temporary mount
of onion peel.

(a) Water (b)  Glycerine () Safranin (d) Methyl alcohol

One of the following is not a characteristic feature of parenchyma tissue. That feature
is

a) Cells are thin walled and prominent
b) Cells are thick at the corners.
c) A large single vacuole is present in each cell.

d) Large cells are placed together with intercellular spaces.

Cells of Sclerenchyma tissue has
(a) thick wall (b) narrow lumen (c) pits (d) all of these

The following statements describe the steps to detect the presence of metahil yellow in
dal. One of the four statements given below is incorrect.

(a) Take 2ml of food extract

(b) Grind 3 - 5 gm of dal and prepare solution

() Add 2 -4 drops of concentrated sulphuric acid
(d) Filter the contents and collect the filtrate

The correct statement is

@ d (b) a (€ c
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40. Chirag added 1 or 2 drops of iodine to three test tubes A, B and C, containing 2ml of
food sample. A dark blue black colour appeared in test tube A and B. The correct
order of the food samples taken in the three test tubes A,B, and C s :

(a) Rice, dal, potato (b)  Rice, potato, dal
(c) Potato, dal, rice (d) Rice, dal, Potato

41. What is the state of water at 100°C ?
(a) Solid (b) Vapour
() Liquid (d) Liquid and vapour

-00o0-
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(i) THH O T ?
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38.
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a) 2 ml @ 9 T TS
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i |1 R 30 g ?

(@) d (b) a @ ¢ d b
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(a) e, T, A (b) e, 3T, <
(c) 3T, T, = (d) e, I, A0

100°C 9 ST ki 3TerEer B
() <o
() =d
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